CHEN3600 Problem Solving 

Fall 2007

Step 2 – Find “x” (Symbolic Representation of the Required Information)
In order to solve a problem (systematically), one must identify the required information and establish a symbol to represent that quantity. For simple problems, this is not a difficult task but for more complex problems there may several different issues which need to be determined.  Problems in the second category are often “open-ended” and require the determination of several parameters.

For example, consider the following problem:  
The party is over and it is raining hard. Your car is parked a couple of blocks away. The way to your car is open, exposed to the rain. You are wearing your new, designer clothes. You just got the first monthly statement and it hurts. You want to make sure you

soak them as little as possible. You have no umbrella. You are getting ready to run as hard as you can when all of a sudden, you start doubting whether this is the best way to save your clothes. Should you walk instead? The decision is too important to leave

to chance. Besides, you are an engineer. You walk back into the building, pull out a pencil and a piece of paper and start looking for the right answer…
[image: image1.emf]Define the problem: Students realize that the criterion for deciding whether to walk or run will be the amount of water absorbed by their clothes in the two cases: (a) walking and (b) running the distance from the building to their car. There are absolutely no numbers given in this problem. Students need to translate the distance (2 blocks) into meters (ex. 200 m) and the “heavy rain” into a number of droplets per unit volume (m3). The constraints are that they have no umbrella, and the way to their car is open, exposed to the rain.

Consider the following two problems taken from the CHEN2AA0 exam:

· If 3.00 g C6H11Br is prepared by treating 3.00 g C6H12 with 5.00 g Br2, what is the percent yield?

· A pilot flies a distance of 600 miles.  He could fly the same distance in 30 minutes less time by increasing his average speed by 40 mph.  Find his actual average speed.

Step 2:  Find the percent yield, “y”

Step 2:  Find the actual average speed, “vact”
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